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1. Given the following equations, tell whether the parabola will open up or down. State the vertex
point, the domain and the range. You may use your calculator to help!
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D. When graphed, which equation represents the widest parabola? Y= 3 X 1 QE%

S
B e p .}
E. When graphed, which equation represents the narrowest parabola? U= Wl X - S

e 3

2. Write a sentence comparing the gr'aphs of equations with a positive coefficient of x* and
graphs with a negative coefficient of x%.
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3. Write a sentence explaining what caused the gr‘aph of a parabola to shift up or' down.
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4, Write an equation of a parabola whose graph lies between the graphs of
2etween T

y=2x?+3andy=2x +5. (\ij m. QX %L’g

5. Write an equation of a parabola whose graph lies between the graphs of

y=-3x’andy=-3x" - 2. L/ﬁ 3&)<‘ZQ E
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6. Given the equation y = x* + 2 write the equation of the parabola if the graph has been

shiftedup 3, A 3 0 “C
%mx+b

7. Given the equation y = — 3x% + 1, write the equation of the parabola if the graph has been
shifted up 5. auckcl & +2 ¢ °

\\ﬁ —- BX :Emé“’“ éé?

8. Given the equation y = 4x* — 3, write The equa‘hon of the parabola if the graph has been

_shifted down 4. dflntacysy L«wj 1y
‘ 2,
J=Hx = |

b YA A
9. Given the equation y = — 2x* + 1, write an equation of a pambo!a if the graph has been

jéf\- W‘&ﬁcj:_w(gb-?)‘“%w(! m\{w L_ﬁ ;:wwj X ;;, —_%w/ %
Loas Al =2 )

10, Given the equa‘hon y = — 2x* + B, write an equation of a parabola |f ‘rhe graph has been

@wed »—»
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